

R M M

ROMANIAN MATHEMATICAL MAGAZINE
www.ssmrmh.ro



Dedicated to teacher Mehmet Şahin

$$f: \mathbb{R} \rightarrow \mathbb{R}, 2f^4(x) + 2f^2(x) + 2 \leq 3f^3(x) + 3f(x), \forall x \in \mathbb{R}$$

Find:

$$\Omega = \lim_{n \rightarrow \infty} \left(\frac{1}{n^2} \sum_{1 \leq i < j \leq n} \left(f\left(e + \frac{\pi i}{n}\right) f\left(e + \frac{\pi j}{n}\right) \right) \right)$$

Proposed by Daniel Sitaru – Romania

Solution by Florentin Vişescu – Romania

$$f: \mathbb{R} \rightarrow \mathbb{R}, 2f^4(x) + 2f^2(x) + 2 \leq 3f^3(x) + 3f(x), \forall x \in \mathbb{R}$$

$$2(f^4(x) + f^2(x) + 1) \leq 3[f^3(x) + f(x)]$$

$$2f^4(x) - 3f^3(x) + 2f^2(x) - 3f(x) + 2 \leq 0; \forall x \in \mathbb{R}$$

$$f(x) = 0 \text{ not verify}$$

$$f(x) \neq 0, \forall x \in \mathbb{R}$$

$$2f^2(x) - 3f(x) + 2 - 3\frac{1}{f(x)} + \frac{2}{f^2(x)} \leq 0; \forall x \in \mathbb{R}$$

$$2\left(f^2(x) + \frac{1}{f^2(x)}\right) - 3\left(f(x) + \frac{1}{f(x)}\right) + 2 \leq 0$$

$$f(x) + \frac{1}{f(x)} = g(x)$$

$$2(g^2(x) - 2) - 3g(x) + 2 \leq 0$$

$$2g^2(x) - 3g(x) - 2 \leq 0$$

R M M

ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro

$$\Delta = 9 + 16 = 25; g(x)_{1,2} = \frac{3 \pm 5}{4} = \begin{cases} 2 \\ -\frac{1}{2} \end{cases}$$

$$g(x) \in \left[-\frac{1}{2}; 2\right]$$

$$f(x) + \frac{1}{f(x)} \in \left[-\frac{1}{2}; 2\right]; -\frac{1}{2} \leq f(x) + \frac{1}{f(x)} \leq 2$$

$$\Rightarrow f(x) = 1; \forall x \in \mathbb{R}$$

$$\Omega = \frac{1}{2} \left(\int_0^1 1 dx \right)^2 = \frac{1}{2} (x|_0^1)^2 = \frac{1}{2}$$

$$\sum_{1 \leq i < j \leq n} \left(f\left(e + \frac{\pi i}{n}\right) f\left(e + \frac{\pi j}{n}\right) \right) = \frac{\left(\sum_{i=1}^n f\left(e + \frac{\pi i}{n}\right) \right)^2 - \sum_{i=1}^n f^2\left(e + \frac{\pi i}{n}\right)}{2}$$

$$\begin{aligned} & \lim_{n \rightarrow \infty} \frac{1}{n^2} \left(\sum_{1 \leq i < j \leq n} \left(f\left(e + \frac{\pi i}{n}\right) f\left(e + \frac{\pi j}{n}\right) \right) \right) = \\ &= \frac{1}{2} \lim_{n \rightarrow \infty} \left[\frac{1}{n} \sum_{i=1}^n f\left(e + \frac{\pi i}{n}\right) \right]^2 - \frac{1}{2} \lim_{n \rightarrow \infty} \frac{1}{n} \cdot \frac{1}{n} \sum_{i=1}^n f^2\left(e + \frac{\pi i}{n}\right) \\ &= \frac{1}{2} \left(\int_0^1 f(e + \pi x) dx \right)^2 - \frac{1}{2} \int_0^1 f^2(e + \pi x) dx \cdot \lim_{n \rightarrow \infty} \frac{1}{n} = \\ &= \frac{1}{2} \left(\int_0^1 f(e + \pi x) dx \right)^2 \end{aligned}$$